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Ch.20 - SPECIAL TRIANGLES
ys°® - 4s° - 90°

12+02 =H°







1. If aright triangle has one 450
0

angle, t
o and 9le, the other angles will have measures of

~ Since a 45° right tria
5 g ngle has two congruent legs, it can be named an

triangle.

3. The longest side of a right triangle is called the

4. The sides opposite two 45° an
gles are :
in length.

5. To find the unknown side of any ri _
y right trian
theorem. gle, use the

6. If atriangle is a 45°-45°-90° triangle, the longer side is always
times the leg. y

Find the unknown sides of these right triangles.

7. A=
8. B=
9. C=
10. D=
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LESSON PRACTICE

Write on one line.
1 1

1. ‘8—_5 = 2 ; =
Rewrite using positive exponents.
3. 771 = 4. X =
Simplify each expression and write it on one line.
5.48.4°= 6. 6% .67%=
7. 372 = 8. (A% 5 =
9. 4793 = 10. D3 poc' 23
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LESSON PRACTICE 19B

Simplify each expression and write it on one line.

11. PR E F2E® = 12. B c'c?c3cp’'=
13. Y10 . y5 - y3 = 14. ABX £ A3X -
-Sv2y3v2 -3R2A5R3
- x_;/xv _ 16, ABAES
Yo B4A-3AS

232 ALGEBRA 1



SYSTEMATIC REVIEW

Simplify as directed.
; ; 1 . . - -
1. Write on one line: -5 2. Rewrite using positive exponents: 2 &
3
3. Write on one line: —- 4. Rewrite using positive exponents: Y

7—2

Simplify each expression and write it on one line.

5. 4% . 472 = 6. 5% u§ =

7. A8BZA3 A% RS = 8. D23 c*p*Cc?pt-
9, 4710, 40 10. X° =+ x4 =

1. 3% 2= 12. 7 =

13. (-8)% = 14. 25 =
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SYSTEMATIC REVIEW 19C

-1g2g34
15 ETR2PEY _
F—ZE—3E5

16. What number is this? 1 x 103 +3 x 102+ 7 x 10% + 8 x 1072
(This is exponential notation.)

For #17-18: Find three consecutive odd integers such that three times the first
integer, plus four times the second, equals negative thirteen times
the third integer.

17. Write the equation using unknowns.

18. Solve the equation to find the integers.

19. Seven nickels and dimes have a total value of $.45.

How many are there of each coin?

20. Write 5X + 10Y - 20 = 0 in the slope-intercept form.

234 ALGEBRA 1



SYSTEMATIC REVIEW

Simplify as directed.
1. Write on one line: ﬁ 2. Rewrite using positive exponents: 58
3. Write on one line: % 4. Rewrite using positive exponents: A

Simplify each expression and write it on one line.

5. XA . xB = 6. 372 .38

7. EOFPETF?ER P = 8 COE 2RO =
9. 73+ 7%= 10. X'V 2 x5V =

11. 103 4= 12. (1,000°) =10’

13. -52 = 14, =36 =
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SYSTEMATIC REVIEW 19D

CSD*D3
" D2C1C3p4

16. What number is this? 2 x 1O4+5x 10! +6x107" + 9 x 10_2

For #17-18: Find three consecutive even integers such that three times the first
integer, plus six times the second, equals eight times the third,
minus fourteen.

17. Write the equation using unknowns.

18. Solve the equation to find the integers.

19. Eleven quarters and dimes have a total value of $2.15.
How many are there of each coin?

20. SolveforXandY:Y-X=0,Y-3X=-4
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